ERHTF §2 ) BX (EMMAEOHEE) (1B %)

FE 2.7.

(1) fla)=23+322 —2—-3=(z—1)(z+1)(z +3)

(2) f(x) =22 —8x+8 = (x —2)(a® +2x —4) *!

(3) f(x)=223+32> -8 +3=(x—1)(z+3)(2x — 1)

(4) f(x) =a* — 623 + 2% + 242 — 20 = (v — 1)(z — 2)(x — 5)(x + 2)
FE 2.8

) 4o + 8xy®  Aw(x?+2y%)  a® + 22

(1) 1202 4 x3xz 3z

@) 2x — 4 2(x —2) 2

202 —3x—2 (2z+1)(x—2) 2z+1

(3) :Jc2—(y+z)2:{x—(y+z)}{x—|—(y+z)}:w_y_z
(z+y)2—22 {(z+y) -2 {(xz+y)+2} z+y—=z

g2 422 —4=(2+1+VB)(xz+1—Vb) LIWENRTE LTV, THUCIZFATRDE 2 H3u5E
Ty 422 —4=(z+1)2-5=(z+1)2 - (V52 =(x+1+V5)(z+1—-+5)
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